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SECTION — A
Answer any FIVE of the following questions. 5X5=25M
22 . , :
1. If 7= 2 is approximated as 3.14, find the absolute error, relative and percentage error.
22 < <
pia == GePow0y) Yeodd 3.14 B8R, DB 55&#0&, FE, 65@(‘0& & TR
fal-Tolnelal
2. Find a real root of the equation x* 4 x2 —1 =0 by iteration method.

HIDE DTH0E® 3 4 x? —1= 0B & TS SareR) EHES08.

3. Find a real root of the equation x3 _2x —5 = by Newton Raphson’s method.

Koo - TS DL THT° x3—2x—5=0 B, &8 TKH Swrer 808508,

4, Given f(0)=3, f(1)=12, f(2) =81, f(3) =200, f (4) =100 and f(5) =8 form a difference
table and find A®f (0).
f(0)=3, f(1) =12, f(2) =81, f (3) =200, f (4) =100 S8 f(5)=8 JenSL 5 USRS
DBosol. HBAs A®f(0) Dewsd 80808,

1 1,1
5. Prove thati) #’ =1+162 i) po =2 AE 1+§A © JPHOA.

6. Obtain the polynomial which takes the following values
8ob BzroaIE 23000 JGoBod.
X : 0 1 2 3
y X 1 0 1 10
hence find y(4)
&) y(4) é@?&éwf@% &OTrAoLo&.



10.

11.

12.

using Stirling’s formula to evaluate f (25) from the following data.
X : 10 20 30 40
f(x) - 11 2 44 79
P DY Kool f(25) Densss, YO0 JrE) &HTNOD ézéogsgro&.

Find the third divided difference with arguments 2,4,9,10 of the function f (x) = x* - 2x.
f(x)=x—2x (B8 x G Deoden 2,4,9,10 M [P HBH HO5re
Qerees 5@20& é?ﬁ)?&o&.

SECTION - B

Answer any FIVE of the following questions. 5X10=50M

5xy?

Give that U =?;AX, Ay and Az denote the errorin x,yand z respectively such that

x=y=z=1and Ax=0.001,Ay =0.002 and Az =0.003 compute the relative maximum

errorin U

5xy?
U= ZZ Denis KBOBEOED X, Y, 7 065 Bidpen SER® AX, Ay, AZe> X = Y = 7 = 15665

Ax=0.001, Ay = 0.002 5080 Az =0.0030008 U &% F2g K08 &ard) Kdosod.

Find a root of the equation f (x) = x* —4x—9 =0 using the bisection method in four stages.

f(X)=x*-4x-9=0 a8 é}ﬁ’@"f@& ézé;&ogaaoézé ?.’Jfgé’éé’s JPenid X@ééj@éj mmégo&.

Find an approximate value of the root of the equation 3+ x —1=0 near x =1, by
Regula - Falsi method using the formula twice.

X4 X—1= 0 ODEGTB x =1 BT HOT 2.8 Kneerd) Brigerare) HEBE® Both HIHHE

oea08.
(]

State and prove Newton'’s formula for forward interpolation.

Soge0S HBY @osTIES Kor@eR) (KD, JroBok.



13.

14.

15.

16.

From the following table, find the number of students who obtain less than 45 marks.

Eod HEEL0D 45 Jrdye g0 BENH HYS Daghe Soggd é:é:%eéoc%.

Marks obtained : 30-40 40 - 50 50 - 60 60 -70 70 - 80
26{’31)26 Eﬁﬁti)gp)
No. of students : 31 42 51 35 31

c‘Dwg%)eJ éospPS

Find by Gauss’s backward formula, the sales of a concern for the year 1936 given that

Bob DES Dod, ™R 85° KD Tr(Ee) DAY 1936 HoHEBD SESISESNY éé)gséo&.

Year : 1910 1911 1921 1931 1941 1951
Jod&Bo

Sales (in thousands) 12 15 20 27 39 52
@Eﬁa&éo (Sos?)

State and prove Bessel’s difference formula.

BRYS BB IrE@eR) (BV0D AETRoBod.

The value of x and y are given as below

8od K)@éé‘s X o0k Y Densden oS

X : 5 6 9 11

y : 12 13 14 16

By Lagrange’s interpolation formula, find the value of Y at x =10

8o @068‘5%26 Q@) BORPA0D X =10 oI Y é:é)’é'sgyoc%.



